Excel

38 11 X i Xom
38 | 1 3 |-196 “mH g6 X, 196 Zm=H qgg X,
oln oln
41 T 14 | = BINORMDIST(N, Xi,p,FALSE) BINOMDIST(X;, N,p,FALSE)
45 T 1 m 50 9 50
Xm_/u Xm_,u
54 L8 |ty =—F— -t Ly
s/n s/vn
56 I 9 |dfl=ni-1=v 1 df2=n2-1=v > dfi=ni-1=v 1 df2=n2-1=v
60 L4 p.21 p.108
63 1 10
63 T 9 m
_ Z(xi_meYi _Ym) _ Z(Ui_UmXVi _Vm) — z(xi_meYi_Ym) — Z(Ui_UmXVi _Vm)
65 t 11 \/(XI - Xm)\/(YI _Ym) \/(Ul _Um)\/(vi _Vm) \/(Xl - Xm)z \/(Yl _Ym)2 \/(Ul _Um)2 \/(Vl _Vm)2
148 5 | (Xs+X,+X,)/3 (X5 + X, +X,)/3,
151 5 -25500.6/3936301.6 -25500.6/3936301.6
0.0065 0.0065
36 11 Xmi

Xm




